PIRANHA OFFROAD PRODUCTS P/N BTP150D2.8

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’ | BT150D2.8

To Suit TOYOTA PRADO _
2.8Lt TDI 08/2015 May Not suit some Kakadu Models

PARTS INCLUDED WITH TRAY

1 X Tray

1 X Special top mount

2 XJ Bolt (1 X extra long) I
1 X XBTBP Backing Plate

3 X M6 Wizlock Nuts

4 X M6 Bolts 15mm

1 X M6 Bolt 30mm

1 X M6 X 26mm diam body Washer
1 X M6 Nut

RECOMMENDED ISOLATOR

DBE140S
or
DBE180-SX

300mm L

MAX BATT WEIGH

NOT SUITABLE
FOR SELFAT

1.Remove OE bolts from earth plate in inner guard and A/C support bracket,
near tray area .
2. Remove plastic electrical cable mount, inner skirt below A/C pipe.

3. Remove front half of inner wheel arch guard liner and remove indicated OE
bolt and install the supplied M6 X30mm long bolt from inside inner guard
partially into engine bay.Fjq 3

4. Fit tray in position with lower arm over thread now sticking out through

inner guard.

5. Bolt tray in , put earth plate over tray arm. Fig 2

6. Now drill two 6mm holes through tray bracket into wheel arch with support

plate under guard secure with 2XM6 15mm bolts and nuts. Fig 4

7. Remove the M6 X 30mm bolt from inside the inner guard, refit inner guard

liner, replace M6X30mm bolt with body washer and tighten. Fig 3

8. Use M6 nut to secure lower tray arm to protruding thread against inner guard

in engine bay.

9 Fit special top mount and using M6 bolt and nut, secure to front radiator

support panel. Use longer "J" bolt to attach to vehicle mounting point
located in front of air box. Fig 1

Oct 2017

> <X e >

FITTING INSTRUCTIONS

© Automotive Ignition Systems Pty Ltd 2017 sTP150D2.8



